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Non-Uniform Circular Motion

e In general, acceleration vector will have a
component perpendicular to the path (i.e., a
component) and a component
parallel (or anti-parallel) to the path.




More with force ...

Suppose we have a system of three
particles as shown. Each particle
interacts with every other, and in
addition there is an external force
pushing on particle 1.

All of the “internal” forces cancel !!
Only the force 1!

IMPULSE

The change in momentum from a
collision is equal to the impulse:

t
Aj=J = jF(t)dt_F At
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IMPULSE

Impulse J_ is the area
under the force curve.

e On a force vs. time plot,
the IMPULSE is the area
under the curve 0-— —
e The integral of F(t) with [ .
respect to dt finds this

area under the curve i The area under the

rectangle of height

F__ is the same as

t¢ # 7~ the area in part (a).
Ap=J = [F(t)dt = F, At

t

i - = = ")
Same duration At

IMPULSE

1. The ball was initially
moving to the right.

‘ \ \]/ ~J_ = area
I ] } under curve
+ B

- Maximum
compression

2. It’s hit
to the
left, -

— .
Ct)ll_lill:l Ap, =,
begins
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3. The ball rebounds to the
left with no loss of speed.

Contact
ends







